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[1] #2PCB 2,900 %31 395
-1 E/7ouoe 7=/ 5.3 0.9 2.3
[1-2] P/noe 7 c=/)L¥F 57 4 13
[1-3] M Zmpe 7 c=/VfE 400 3 8
-4 Tho/one 7 ==/ 750 3 10
[1-4-11 =27 5F—PCBDHH 3,3 ,44-T hFrunt 7 ==L (#77) 6.4 0.7 1.8
[1-4-21 27 5F—PCBDHH 3,44 5-Th77nub 7 ==/ (#81) nd 0.6 15
[1-5] ~v % ropube 7 o= /L5F 900 8 25
[1-5-1]1 =755 —PCBDHH 2,33 44-~ K /uubL 7 ==/l (#105) 31 0.7 1.8
[1-5-2] =7/5F—PCBDHH 2.344' 5-~Z/out 7 =)L (#114) 3.6 0.8 2.1
[1-5-3] =75 F—PCBDHH 2,3 44' 5-~#/uube 7 ==/l (#118) 100 1.4 4.1
[1-5-4] =7 5F—PCBDHH 2',3,4,4' 5~ Frunt 7 ==/ (#123) 2.2 0.8 2
[1-5-5] =755 —PCBDHH 3,3 44' 5-~#/uub 7 ==/l (#126) tr(1.4) 0 0
[1-6] ~FHrmoe 7 ==L 630 8 24
[1-6-1] =75 F—PCBDHH 2,3.3,44' 5-~FH /oot 7 ==/l (#156) 6.9 0.8 2.1
[1-6-2] =75 F—PCBDHH 2,3.3.44' 5'-~FHroubt 7 ==L (#157) 2.0 0.7 1.9
[1-6-3] =5 F—PCBDHH 2.3,44' 55-~FHroub 7 ==/l (#167) 5.0 0.6 15
[1-6-4] =75 F—PCBDHH 3,3,44'55-~FHroub 7 ==/l (#169) nd 0.8 2
[1-7] ~7Z/uubt 7 = =)LfF 160 1 4
[1-7-11 =75 F—PCBDHH 2,2 3.3 4,4' 5-~FZ /ot 7 ==/ (#170) 11 0.7 1.8
[1-7-21 =755 —PCBDHH 2,2 3.44' 55-~F % /uat 7 ==L (#180) 32 0.7 1.8
[1-7-3] =75 F—PCBDH 2,3,3.44' 55-~F % /uat 7 ==/L (#189) nd 0.8 2
[1-81 A4 /oo 7 =)L 4 15 1 4
[1-9] /FZunEe 7 ==/l 3 1 3
[1-10] THZopE T ==)L tr(1.5) 0.7 1.9
[21 HCB (~FHrma~ £ ) 1,900 3 10
[3] 7/LRU» nd 0.7 1.8
[4] T4V RY 700 1 3
[5] =RV 140 1 3
[11-1] o -HCH 160 1 3
[11-2] B-HCH 440 0.9 2.4
[11-3] y-HCH (B4 : U T2 ) 40 0.8 2.2
[11-4] §-HCH 4 1 3
4 AV TeEY 7 =)L —T7 VR (B EEPAHI0ETDLD) 450 390 %260
[14-1] T 7 ey T o=/Lo—F )LFF 66 6 15
[14-1-1]1 2,2 44-T T 7 087 2 =)L =—F )L (#47) 28 6 15
[14-2] AT aEY T =)L —TF )LHH 21 5 12
[14-2-112,2'4.4' 5~ # T 0ED T ==L =—F /L (#99) nd 5 12
[14-3] ~F VT uE T 2oL —F LK 19 4 10
[14-3-112,2' 4 4' 55 ~F YT 0ES T ==L =—F /L (#153) nd 4 10
[14-3-2]12,2' 4. 4' 56 ~F YT 0ES T ==/ =—F /)L (#154) tr(9) 3 10
[14-4] ~F 2T aEP T =)L o—F )L nd 5 12
[14-4-1]12,2'3,3'4,5',6-~F X7 B ET 2 =/L=—F /L (#175) nd 5 12
[14-5] A2/ 4 7 0EY T ==L =—F LA tr(7) 4 11
[14-6] /F 7 uEy 7 ==L —T )LHH 40 10 30
[14-7 THTBES T =L =—F )L 300 60 170
[15] ~v 7 A ut sk AR i (PFOS) 26 2 5
[16] ~V 7V A vA o 2 FR (PEOA) 14 3 10
[17] <& raa Py 210 3.1 9.3
[18] =X RA/LT7 7 4 tr(30) %30 380
[18-1] o - RA/L T 7 tr(30) 20 60
[18-21 8- RARALVT 7 nd 6 19
[1911,25,6,910-~F VT aEL JuR T h 5H 450 350 $¢150
[19-11¢-1.256910-~F VT uEL JuRF h 410 10 30
[19-218-1.256.9.10-~F VT uEL JuRF h tr(20) 10 30
[19-3]1 y-1.2,5,6.9.10-~F VT uEL IJuRF H tr(20) 10 30
[19-4]15-1.25,6.910-~F VT aEL JuRFhy nd 10 30
[19-5] £-1,2,5,6.9,10-~F VT uEL JuRF H nd 10 30
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